

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO GBH 2996Y

| | REPLACEMENT OF PARTS | | | |
|-----|---|------------------------------|------------------------|-------------------|
| Qty | Description of Parts | Condition | Workshop Estimate (\$) | Our Adjusted (\$) |
| 1 | FRONT BUMPER | DISTORTED | \$1,510.33 | \$1,510.33 |
| 2 | FRONT BUMPER BRACKET @\$178.56 | O/S BENT / O/S * CHECK | \$357.12 | \$178.56 |
| 1 | FRONT GRILLE | MISSING | \$1,253.14 | \$1,253.14 |
| 1 | FRONT PANEL | DISTORTED | \$1,522.43 | \$1,522.43 |
| 1 | AIRCON PIPE BIG | NOT NECESSARY | \$578.20 | \$0.00 |
| 1 | AIRCON PIPE SMALL | NOT NECESSARY | \$430.20 | \$0.00 |
| 1 | AIRCON BLOWER MOTOR | * CHECK | \$1,645.30 | \$0.00 |
| 3 | BRAKE FLUID PIPES @\$325.60 | NOT NECESSARY | \$976.80 | \$0.00 |
| 1 | FRONT PANEL EMBLEM 'ISUZU' | NECESSARY | \$194.96 | \$194.96 |
| 2 | FRONT WIPER NOZZLE @\$39.44 | O/S CUT | \$78.88 | \$39.44 |
| 2 | FRONT WIPER ARM @\$141.56 | NOT NECESSARY | \$283.12 | \$0.00 |
| 2 | FRONT WIPER BLADE @\$32.70 | NOT NECESSARY | \$65.40 | \$0.00 |
| 1 | FRONT WINDSCREEN GLASS | CRACKED | \$1,131.37 | \$1,131.37 |
| 1 | SET FRONT WINDSCREEN MOULDING | NECESSARY | \$492.50 | \$492.50 |
| 2 | HEAD LAMP @\$510.51 | CRACKED | \$1,021.02 | \$1,021.02 |
| 2 | HEAD LAMP LOWER RUBBER @\$25.95 | O/S MISSING | \$51.90 | \$25.95 |
| 2 | FRONT SIDE LAMP @\$269.36 | O/S SMASHED / N/S * CHECK | \$538.72 | \$269.36 |
| 2 | FRONT CORNER PANEL @\$506.76 | O/S DISTORTED | \$1,013.52 | \$506.76 |
| 2 | FRONT CORNER TOP COVER GARNISH @\$38.61 | O/S MISSING | \$77.22 | \$38.61 |
| 1 | SIDE MIRROR RH | NOT NECESSARY | \$124.30 | \$0.00 |
| 1 | SIDE MIRROR STAND | BENT | \$477.02 | \$477.02 |
| 1 | SIDE MIRROR TOP COVER | CUT | \$39.45 | \$39.45 |
| 1 | CABIN HINGE | * CHECK | \$955.56 | \$0.00 |
| 2 | CABIN LOCK BRACKET (REAR) @\$796.13 | * CHECK | \$1,592.26 | \$0.00 |
| 1 | FRONT CABIN BACK GLASS RUBBER | NOT NECESSARY | \$178.36 | \$0.00 |
| 1 | FRONT CABIN FLOOR MAT | * CHECK | \$986.71 | \$0.00 |
| 1 | FRONT STEP PANEL GARNISH RH | DISTORTED | \$478.60 | \$478.60 |
| 1 | FRONT STEP PANEL RH | DISTORTED | \$425.80 | \$425.80 |
| 1 | FRONT DOOR RH | BUCKLED | \$1,969.31 | \$1,969.31 |
| 1 | FRONT DOOR OUTER HANDLE RH | NOT NECESSARY | \$136.48 | \$0.00 |



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

| | REPLACEMENT OF PARTS | | | |
|-----|--------------------------------------|----------------------|------------------------|-------------------|
| Qty | Description of Parts | Condition | Workshop Estimate (\$) | Our Adjusted (\$) |
| 1 | FRONT DOOR OUTER MOULDING | DEFORMED | \$176.13 | \$176.13 |
| 1 | FRONT DOOR WINDOW FRAME GARNISH | NOT NECESSARY | \$424.80 | \$0.00 |
| 1 | FRONT DOOR WIREHARNESS RH | NOT NECESSARY | \$685.73 | \$0.00 |
| 2 | FRONT DOOR HINGE @\$162.52 | * CHECK | \$325.04 | \$0.00 |
| 1 | FRONT DOOR CHECKER | * CHECK | \$83.51 | \$0.00 |
| 1 | FRONT DOOR WEATHER STRIP | * CHECK | \$424.80 | \$0.00 |
| 1 | FRONT DOOR ARCH RUBBER | * CHECK | \$87.63 | \$0.00 |
| 1 | FRONT DOOR ARCH GARNISH RH | DEFORMED | \$156.11 | \$156.11 |
| 1 | FRONT DOOR GLASS | NOT NECESSARY | \$497.83 | \$0.00 |
| 1 | FRONT DOOR GLASS CHANNEL | * CHECK | \$288.97 | \$0.00 |
| 1 | FRONT DOOR INNER LOCK | JAMMED | \$402.84 | \$402.84 |
| 1 | FRONT DOOR LOCK CATCH | NOT NECESSARY | \$64.22 | \$0.00 |
| 1 | FRONT DOOR INNER TRIM BOARD | CRACKED | \$576.21 | \$576.21 |
| 1 | FRONT DOOR POWER WINDOW MOTOR | NOT NECESSARY | \$1,363.16 | \$0.00 |
| 1 | FRONT DOOR REGULATOR | * CHECK | \$648.76 | \$0.00 |
| 1 | FRONT DOOR SPEAKER RH | * CHECK | \$232.71 | \$0.00 |
| 1 | FRONT DOOR INNER SPONGE RH | NOT NECESSARY | \$81.31 | \$0.00 |
| 1 | FRONT DOOR PILLAR (OUTER) | * CHECK | \$1,533.24 | \$0.00 |
| 1 | FRONT DOOR PILLAR (FRONT INNER) | TO REPAIR SEE LABOUR | \$1,241.18 | \$0.00 |
| 1 | FRONT FLOOR PANEL SIDE GARNISH | * CHECK | \$276.51 | \$0.00 |
| 1 | CABIN BACK SIDE PILLAR | BUCKLED | \$891.21 | \$891.21 |
| 1 | CABIN BACK SIDE INNER PILLAR | TO REPAIR SEE LABOUR | \$672.48 | \$0.00 |
| 1 | CABIN BACK SIDE PILLAR INNER GARNISH | NOT NECESSARY | \$148.56 | \$0.00 |
| 1 | AIR DUCT | * CHECK | \$736.73 | \$0.00 |
| 1 | AIR CLEANER | DAMAGED | \$1,393.43 | \$1,393.43 |
| 1 | AIR CLEANER BRACKET | NOT NECESSARY | \$865.15 | \$0.00 |
| 1 | DASHBOARD | * CHECK | \$1,681.43 | \$0.00 |
| 1 | DASHBOARD REINFORCEMENT | * CHECK | \$413.90 | \$0.00 |
| 1 | DASH BOARD CENTER GARNISH | * CHECK | \$673.71 | \$0.00 |
| 1 | GLOVE COMPARTMENT | NOT NECESSARY | \$501.64 | \$0.00 |
| 1 | STEERING WHEEL | NOT NECESSARY | \$528.86 | \$0.00 |



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

| REPLACEMENT OF PARTS | | | | |
|----------------------|----------------------|---------------|------------------------|-------------------|
| Qty | Description of Parts | Condition | Workshop Estimate (\$) | Our Adjusted (\$) |
| 1 | SPEEDOMETER | NOT NECESSARY | \$1,889.13 | \$0.00 |
| 1 | SPEED METER COVER | * CHECK | \$186.43 | \$0.00 |
| | LESS 15.00% DISCOUNT | | (\$6,110.90) | (\$2,275.58) |
| | | \$34,628.43 | \$12,894.96 | |

| | Special Nett | | | | |
|-----|--|---------------|------------------------|-------------------|--|
| Qty | Description of Parts | Condition | Workshop Estimate (\$) | Our Adjusted (\$) | |
| 1 | FRONT NUMBER PLATE (SN) | CRACKED | \$80.00 | \$30.00 | |
| 1 | SET FRONT GRILLE CLIP (SN) | NECESSARY | \$50.00 | \$30.00 | |
| 1 | SET FRONT CORNER PANEL CLIPS (SN) | NECESSARY | \$50.00 | \$20.00 | |
| 1 | FRONT PANEL SEALANT (SN) | NECESSARY | \$150.00 | \$60.00 | |
| 1 | FRONT WINDSCREEN GLASS SEALANT (SN) | NECESSARY | \$80.00 | \$40.00 | |
| 1 | FRONT WINDSCREEN GLASS INNER SEAL (SN) | NECESSARY | \$60.00 | \$30.00 | |
| 1 | FRONT ERP BRACKET (SN) | NECESSARY | \$30.00 | \$20.00 | |
| 1 | SET HEAD LAMP CLIP (SN) | NOT NECESSARY | \$30.00 | \$0.00 | |
| 1 | SET FRONT DOOR INNER TRIM CLIP (SN) | NECESSARY | \$80.00 | \$30.00 | |
| 1 | SET FRONT STEP PANEL GARNISH CLIP (SN) | NECESSARY | \$60.00 | \$20.00 | |
| 1 | FRONT DOOR LTA STICKER (SN) | NECESSARY | \$40.00 | \$30.00 | |
| 1 | SET FORNT DOOR ARCH GARNISH CLIP (SN) | NECESSARY | \$30.00 | \$20.00 | |
| 1 | BRAKE OIL (SN) | NOT NECESSARY | \$60.00 | \$0.00 | |
| | | | \$800.00 | \$330.00 | |

| Labour | | | | |
|--|---------------|------------------------|-------------------|--|
| Description of Parts | Condition | Workshop Estimate (\$) | Our Adjusted (\$) | |
| TO PANEL BEAT, WELD, CUT, ADJUST, KNOCK. INCLUSIVE OF THE REPAIR OF FRONT DOOR PILLAR (FRONT INNER) AND CABIN BACK SIDE INNER PILLAR | | \$3,000.00 | \$2,000.00 | |
| TO PUTTY, SPRAY PAINT, POLISH WAX | | \$2,600.00 | \$1,600.00 | |
| TO SPRAY TUFF COAT | | \$250.00 | \$100.00 | |
| WIRING, BULB CHECKING | | \$80.00 | \$30.00 | |
| REFOCUS HEADLAMP BEAM | NOT NECESSARY | \$60.00 | \$0.00 | |
| REMOVE AND REFIX CUSHION SEAT / UPHOLSTERY & ROOF LINING TO FACILITATE REPAIR | | \$200.00 | \$60.00 | |
| TRANSFER FRONT DOOR MECHANISM | | \$120.00 | \$60.00 | |



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

| Labour | | | | |
|---|---------------|------------------------|-------------------|--|
| Description of Parts | Condition | Workshop Estimate (\$) | Our Adjusted (\$) | |
| REMOVE & REINSTALL FRONT WINDOW GLASS | | \$120.00 | \$120.00 | |
| REMOVE AND REFIX DASHBOARD | | \$500.00 | \$220.00 | |
| REMOVE AND REFIX FRONT WINDSCREEN | NOT NECESSARY | \$120.00 | \$0.00 | |
| TO DISMANTLE REAR CABIN | * CHECK | \$800.00 | \$0.00 | |
| TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT / CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC | NOT NECESSARY | \$180.00 | \$0.00 | |
| | | \$8,030.00 | \$4,190.00 | |
| GRAND TOTAL | | \$43,458.43 | \$17,414.96 | |
| RECOMMENDED COST OF REPAIRS (REPAIR COST NOT CONCLUDE) (EXCLUDE CHECK ITEMS S\$12,037.95 NETT) | | | \$17,414.96 | |
| Report Ref No: CS/LIP24090483/Aqh3e2 | | | | |

NOTE: ACCORDING TO REPAIRER, THIRD PARTY OWNER CONVERT TO OD CLAIM.

MARKET VALUE: \$60,000.00 (EST)-LTA REIMBURSEMENT VALUE: \$12,759.00=NETT VALUE: \$47,241.00

LWP

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.